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e
18 Given: VQ is tangent to ©O at Q.
QS is a diameter of ©O.

PQ = 115% LRPS = 36°
Find: a 2R = /AMS) =515°

b s ='h{is) 5?5

C é-ﬁ ‘4‘1.

d é_ﬁ 108"
e LQPR *54°
f
g
h

£QPS =90’
£LQTP=93.5"
AJVARITN

i PRQ =245°

j RSP =131

k 2vQs =0

I 2QOP =118’

P = l -
19 Given m4P = 60 and mPSR = 128, find £@R=3 12 = by

mzQ, mZR, and m2S.

(nscribad gbuad > opp Ls supp

20 The major arc cut off by two tangents to a circle from an outmde
point is five thirds of the minor arc. Find the angle formed by ’“X
the tangents. 3 _
2y + %% 23060
3 LY = 238-135 _ 90 :
8 y=30 —a
x = 360 3>

=

21 Find the measure of each arc or angle labeled with a letter.

48 c Tangent
.E’Q
X
go=- Brx 200
S - -@O .
(= 100-6O .
[§D = % + X A~ o0
[BL=X

;
22 Given circles concentric at O, AB tangent

to the inner circle, and BC = 84, find
the measures of A, DE, and DF.

wlh=3®R =49’

0_,_,3_“49'

|30 -ug =132



8" %/;5; 360~ (927 72)

23 GiVen: @ — gzol A Iy _'_qn' +DC 3(’0 - H'q = %‘f - qso

£LAEB = 82° 1=
Find: AD g \
D

A A, AL - B}
B (AFE=AEZB g e PETBD
2
24 Given: ZAFE = 89°, A %9 = @*Qp 5 = <
£C = 15° = A
Find: AE and BD =24 0= he -
o 0 = C )
1 # 198 = AE 2R
£ 30=Pe—B
25 Given: Y = 112°, A 208 - A2
DC = g7° lod = Ag
Find: AB D B e ga < 1ou + BD
2
48 = lou +8D
C - &N —%"‘
o= B
26 1f DC = (5x + 6)°, AB = (2x)°, and
£AEB = 94°, find AB.
28 AABC is inscribed in a circle (all sides are chords), AB = 12
AC = 6, and BC = 6V/3. Find mAC. . ’
30 a Find the exact area and circumference of Circle Q, and find the area to the
nearest tenth. A = -[-r\rz 0, = ¢

T (=< 0T
C= 3.4

b. Find the exact area of the shaded region, and estimate it to the nearest tenth.

W 95T - L 25T |25~ ~
2 o = “T‘*TNI%

c. Find the exact length of and PR, and esti

Q0 _llom _
260 0T = 4 -




